BOONOOA~WNE

12.
13.
14.
15.

TRAILBGSS N

Towbar Fitting Instructions
To Suit FORD FALCON WAGON AU series 1, 2, 3 & BAon 9/98-ON
Part Number QTFD941L

Rating 2300Kg

Ensure all hardware items have been included.

Remove rear bumper bar.

Fold back carpet in luggage area to expose floor.

Refer to diagram for hole positions.

Centre punch hole positions then cut away sound deadening material.

Drill four small pilot holes, most forward holes all the way through chassis rails.

Drill out all holes to 13mm.

Drill out holes in top section of floor to fit 19mm spacer tubes.

Lift towbar into position aligning two bolts with rear mounting plates at end of chassis rails.

Fit M12 x 45 bolts, flat washers, spring washers and nuts to outer holes of towbar, on drivers side
and inner hole on passenger side plates and mounting points of vehicle.

Fit remaining M12 x 45 bolts, loose plates and arms to inward mounting points (refer to diagram
for left and right).

Fit M12 x 140 bolts, loose plates and spacer tubes through top section of floor.

Fit spring washer and nuts.

Tighten all bolts to torque listing below.

Refit bumper bar and carpet.

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt

M6
M8
M10
M12
M14
M16

Nm
9.5
21.7
43.4
77.3
121.0
189.8

Page 1 of 2 Issue Date 3/3/10.
THE WORKHORSE OF AUSTRALIA’S TOWBARS




- TRAILBRSS

Towbar Fitting Instructions
To Suit FORD FALCON WAGON AU series 1, 2, 3 & BAon 9/98-ON
Part Number QTFD941L

Rating 2300Kg

4 - ML2 x 140 COACH
4= M12 S/WASHER
4= MI2 x 1.75P NUT

2 - LOOSE PLATE
32 x 6 x 88 - ¢l4

4 - LOOSE PLATES

2- MI2 x 45 - 1.75P BOLT B A
SRRVIER e “ﬁi%;{/, 50 x 6 x 50 ~13.5 Sq
2- M2 x 1.75P NUT
. > 4 - SPACER TUBES
/ 819 x 1.6 x 103
I- MI2 x 45 ~1.75P BOLT
- MI2 x 45 - 1.75P BOLT
(WELDED IN)
2- M12 FL/WASHER
2- M2 S/WASHER
2- M2 x 1.75P NUT
TBM 5196 P
N om M1Z x 45 - 1.75P BOLT
2- M12 FL/WASHER
PULL PIN 2- M12 S/WASHER
& R CLIP 2= M12 x 1.75P NUT
- M2 x 45 - 1.75P BOLT
I- M2 x 45 - 1.75P BOLT
(WELDED IN)
2= MI2 S/WASHER
2- M2 x 1.75P NUT
|
e
[ 260
160
N
e
N
ANCHOR POINT
Page 2 of 2 Issue Date 3/3/10.
THE WORKHORSE OF AUSTRALIA’S TOWBARS

N

~




TRAILBSSS

Wiring Loom Fitting Instructions
To Suit Ford
BA/BF Falcon Sedan

Wagon AU123 BA (Sept onwards)

Falcon AU Sedan (Sept 1998 to Aug 2002)
BA/BF/XR6/Xr8 Sedan
AU Falcon Sedan (Sept 1998 to Sept 2002)
Territory
Part Number 100001-WL

Wiring Loom Installation Instructions

Ford
Part No: 100001-WL

Tail Harness Length Required: 1200mm
RPA Override Switch Part No: 04848 (If Fitted)

Wiring Loom Installation Time: Approx 10 - 40 Mins depending on

vehicle model.

\ Page 1 of 3

Cequent Customer Service

Issue Date 12-02-10 /

Ph: 1800 812 017 Fax: 03 9797 3299
Email: info@cequent.com.au
Post: PO Box 4050, Dandenong South VIC 3175




y TRAILBGCSS N

Wiring Loom Fitting Instructions
To Suit Ford
BA/BF Falcon Sedan

Wagon AU123 BA (Sept onwards)

Falcon AU Sedan (Sept 1998 to Aug 2002)
BA/BF/XR6/Xr8 Sedan
AU Falcon Sedan (Sept 1998 to Sept 2002)
Territory
Part Number 100001-WL

Sedan Steps:

1. In the luggage compartment, remove the necessary trims to gain access to the RHS tail
lights.

2. Connect the Trailer Patch Harness (P/No: 100001-WL) connector to the vehicle break out
connector.

BA/BF Sedan models only:

3. Atthe RHS rear quarter of the vehicle, remove the vehicle grommet.

4. From outside of the vehicle, route in the Tail Harness (length 1200mm) through the
grommet hole and connect it to the Trailer Patch Harness connector. Note: If vehicle is
fitted with an RPA Kkit, drill a @30mm access hole near the existing grommet for Tail
Harness routing.

5. Route the Tail Harness socket towards the towbar mounting bracket.

6. Secure the Tail Harness socket onto the towbar mounting bracket using M4 fasteners.

AU Sedan models only:
7. Locate the RHS grommet near the spare wheel well.

8. Mount the Trailer Socket to the towbar using M4 Fasteners then route the Tail Harness
(length 1200mm) over to the grommet hole then feed it into the vehicle.

9. From underneath the vehicle, route the Tail Harness (tail length 1800mm) into the
vehicle. Slide the grommet to the desired position and then cable tie inside the vehicle.
Press the grommet in place, ensuring a good seal is obtained. Then secure the grommet
in place with a cable tie (not supplied).

10.In the luggage compartment, connect the Tail Harness to the Trailer Harness Patch.

Test the Tail Harness socket using a light board or multimeter.

11.Secure all harnesses using cables ties.

12.Refit all removed parts and secure all fasteners ensuring there are no squeaks or rattles.

13.Place instructions in glove box after fitment.
Wagon models only:

14.0n the RHS trim remove the Jack Access panel and locate the 8-way trailer breakout
connector.

\ Page 2 of 3 Issue Date 12-02-10 /
Cequent Customer Service

Ph: 1800 812 017 Fax: 03 9797 3299
Email: info@cequent.com.au
Post: PO Box 4050, Dandenong South VIC 3175




N

TRAILBGSS ——

Wiring Loom Fitting Instructions
To Suit Ford
BA/BF Falcon Sedan

Wagon AU123 BA (Sept onwards)

Falcon AU Sedan (Sept 1998 to Aug 2002)
BA/BF/XR6/Xr8 Sedan
AU Falcon Sedan (Sept 1998 to Sept 2002)
Territory
Part Number 100001-WL

15.Plug the Trailer Harness Patch (P/N 100001-WL) to the 8-way trailer breakout connector.

16.In the jack access cavity area, remove the grommet blanking plug from the RHS rear
quarter.

17.0utside, at the rear of the vehicle, mount the Trailer Socket to the towbar using M4
fasteners.

18.From underneath the vehicle, route the Tail Harness (length 1200mm) over to the
grommet hole then feed it through the grommet hole and into the vehicle. Note: The
grommet must be moved along the harness to the desired location.

19.Press the grommet in place, ensuring a good seal is obtained. Then secure the grommet
in place with a cable tie (not supplied).

20.Inside the vehicle, connect the Tail Harness connector to the trailer patch. Cable Tie back
any excess length.

21.Test the Trailer socket using a light board or multi-meter.

22.Secure the all harnesses using cables ties.

23.Refit all removed parts and secure all fasteners.

24.Place instructions in glove box after fitment.
Territory models only:

25.Remove the necessary trims to gain access to the RHS vehicle 8-way break out
connector then connect the Trailer Patch harness (P/No: 100001-WL) to the break-out

connector.

26.0n the RHS rear, below the tail light, remove the grommet and feed the Tail Harness
(Length 1200mm) through the hole until it comes through the inner cavity.

27.Connect the Trailer Patch Harness to the Tail Harness.

28.0n the outside rear of the vehicle, secure the trailer socket onto towbar mounting plate
using M4 fasteners.

29.Test the Trailer socket using a light board or multi-meter.
30.Secure the all harnesses using cables ties.

31.Refit all removed parts and secure all fasteners.

32.Place instructions in glove box after fitment.

Page 3 of 3 Issue Date 12-02-10 /
Cequent Customer Service

Ph: 1800 812 017 Fax: 03 9797 3299
Email: info@cequent.com.au
Post: PO Box 4050, Dandenong South VIC 3175




